id:3 level: O
17:CO0C1 C2C3C4
C5C6C7C8C9C10
Cl11 C12C13C14 C15C16
136: CO = C1(C0OC1)CO = C2(CO0C2)C0O0 = C3(C0O0C3)CO =CC4(C0C4)C0O0 =C5(C0¢0CH)
CO = Co6(C0Cob) O_= C7(COC7)C0O =C8(C0C8)C0O =C(C9(C0O0CY9)CO =C10(C0O0C10)CO =C11(COC11)
CO = C12(C0C12)C0O = C13(C0C13)C0O0 = C14(C0C14)C0O = C15(C0C15)C0 =Clbo(COo0C16)C1 = C2(C1C2)
Cl = C3(C1C3)C1 =cC4(C1C4) C1_ C5(C1C5)C1 =cC6(C1Co)C1 =C7(C1C7)C1 =2C8(C1C8)
Cl = C9(C1C9)C1 =C10(C1C10)C1 = C11(C1C11)C1 = C12(C1C12)C1 = C13(C1C13)C1 = C14(C1C14)
Cl = C15(C1C15)C1 = C16(C1 Cl6 ) C2 = C3(C2C3)C2 =C4(C2C4)C2 =C5(C2CH)C2 =Cob(C2C0)
C2 = C7(C2C7)C2 =C8(C2C8)C2 = (C9(C2C9)C2 =C10(C2C10)C2 = cC11(Cc2C11)C2 = C12(Cc2C12)
C2 = C13(C2C13)C2 = C14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C3 = C4(C3C4)C3 = C5(C3Ch)
C3 =C6(C3C6)C3 =C7(C3C7)C3 =C8(C3C8)C3 =CHY(C3C9)C3 =C10(C3C10)C3 =C11(C3C11)
C3 = C12(C3C12)C3 = C13(C3C13)C3 = C14(C3C14)C3 = C15(C3C15)C3 =Cl16(C3Cl16)C4 = 5( C4 CH)
C4 =C6(C4C6)C4 =C7(C4C7)C4 =C8(C4C8)C4 =(C9(C4C9)C4 =CC10(C4C10)C4 =cC11(C4C11)
C4 = C12(C4C12)C4 = C13(C4C13)C4 = C14(C4C14)C4 = Cl15(C4C15)C4 =Clo(C4Cl6)C5 = Co6(C5C0)
C5 = C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)C5 = C10(C5C10)C5 = C11(C5C11)C5 = Cl12(C5C12)
C5 = C13(C5C13)C5 = C14(C5C14 ) C5 = C15(C5C15 ) C5 = C16(C5Cl1l6)C6 = C7(C6C7)Cb6 = C8(C6C8)
C6 = C9(C6C9)C6 = C10(C6C10)C6 = C11(C6C11)C6 = C12(C6C12)C6 = C13(C6C13)C6 = C14(C6C14)
C6 = C15(C6C15)C6 = C16(C6 C16) C7_= C8(C7C8)C7 =C9(C7C9)C7 =C10(C7C10)C7 = cC11(C7C11)
C7 = C12(C7 C12 ) C7 = C13(C7C13)C7 = C14(C7C14)C7 = C15(C7C15)C7 = Cl16(C7C16)C8 = C9(C8C9)
C8 = C10(C8C10)C8 = C11(C8C11)C8 = C12(C8C12)C8 = (C13((C8C13)C8 = (C14(C8C14)C8 = (C15(€C8C15)
C8 = C16(C8C16)C9 = C10(C9C10)C9 = C11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)
C9 = C15(C9C15)C9 = C16(C9C16)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C14(c10C14)
Cl10 = C15(C10C15)C10 = C16(C10C16)C11 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)
Cl1 = Cl16(Cl11Cl6)C12 = C13( Cl2C13)Cl12 = C14( Cl12C14)C12 = C15( C12C15)Cl12 = C16(C12C16)C13 = C14(C13 C14)
C13 = C15(C13C15)C13 = C16(C13Cl16)Cl14 = C15(C14C15)C14 = C16(C14Cl6)C15 = C16(C15Cl16)
16:CO0C1 C2C3C4
C5C6C7C8C9C11
C12 C13C14 C15 C16
120: CO0 = C1,C0 = C2,C0 = C3,C0 = C4,C0 = C5,
CO0 = C6,CO = C7 ,CO = _C8 CO = C9 ,C0 = C11,C0 = C12,
CO_=_C13,CO = C14,C0 = C15 ,C0 = C16,C1 = C2,C1 = C3,
cCl=cCc4,c1=C5,C1 =¢C6,C1 =C7,C1 =C8,C1 =C9,
c1 =C11,C1 = C12,C1 = C13,C1 = C14,C1 = C15,C1 = C16,
C2 =C3,C2 =C4,C2 =C5 ,C2 =C6,C2 =C7,C2 =C8,
cC2 =(09,C2 =C11,C2 =C12,C2 = C13,C2 = C14,C2 = C15,
2 =C0C16,C3 =C4,C3 =C5,C3 =C6,C3 =C7,C3 =2C8,
cC3=069,C3 =C11,C3 =C12,C3 =C13,C3 = (C14,C3 = C15,
C3 =C16,C4 =C5,C4 =C6,C4 =C7,C4 =C8,C4 =(C9,
C4 = Cl11,C4 =C12,C4 = C13,C4 = C14,C4 = C15,C4 = Clo,
C5=C6,C5 =C7,C5 =(C8,C5 =(C9,C5 =C11,C5 =C12,
C5 = (C13,C5 = C14 ,C5 = C15,C5 = C16 ,C6 = C7,Co = C8,
C6 = C9,C6 = Cl11,C6 =C12,C6 = C13,C6 = C14,Co6 = C15,
C6 = Cl6,C7 = C8,C7 = C9,C7 = Cl11 ,C7_= Cl12,C7 = C13,
Cc7 = Cl14,C7 = C15,C7 = C16,C8 = C9,C8 = C11,C8 = C12,
C8 = C13,C8 = C14,C8 = C15,C8 = C16,C9 = C11,C9 = C12,
c9 = C13,C9 = C14,C9 = C15,C9 = C16,C11 = C12,C11 = C13
Cll = C14 ,C11 = C15,C11 = C16 ,C12 = C13,C12 = C14 ,Cl12 = C
Cl12 = Cl16,C13 = C14,C13 = C15,C13 = Cl16,C14 = C15,C14 = C
15 = C16,
4
id:4 level: 1
17:CO0C1 C2C3C4
C5C6C7C8C9C11
Cl12 C13C14 Ci15Cl1le C17
136: CO = C1(C0OC1)CO = C2(CO0C2)C0O0 = C3(C0O0C3)CO =CC4(C0C4)C0O0 =C5(C0¢CH)
CO =C6(C0O0C6)CO =C7(COC7)C0O =C8(C0C8)CO =C(C9(COCY9)CO =C11(COC11)CO =C12(C0OC12)
CO = C13(C0C13)C0O = C14(C0C14)C0O = C15(C0C15)C0 = Cle(C0O0Cl6)CO = C17(COC17)C1 = C2(C1C2)
Cl =C3(C1C3)C1 =C4(C1C4)C1 =C5(C1C5)C1 =cCh(C1CH)C1 =C7(C1C7)C1 =C8(C1C8)
Cl =C9(C1C9)C1 =Cl1(C1C11)C1 =C12(C1C12)C1 =C13(C1C13)C1 =CcC14(cCc1C14)C1 = cC15(¢C1C15)
Cl = C16(C1Cl16)C1 =C17(C1C17)C2 =C3(C2C3)C2 =C4(C2C4)C2 =C5(C2Ch)C2 =CcCo(C2C0)
C2 = C7(C2C7)C2 =C8(C2C8)C2 =(C9(C2C9)C2 =C11(C2C11)C2 = C12(C2C12)C2 = C13(C2C13)
C2 = C14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C2 = C17(C2C17)C3 = C4(C3C4)C3 = C5(C3Ch)
C3 =C6(C3C6)C3 =C7(C3C7)C3 =C8(C3C8)C3 =CY(C3CY9)C3 =L C11(C3C11)C3 =C12(C3C12)
C3 = C13(C3C13)C3 =C14(C3C14)C3 = C15(C3C15)C3 =Clpo(C3Cl6)C3 =cC17(C3C17)C4 = C5( C4 CH)
C4 =C6(CA4C6)C4 =C7(C4C7)C4 =C8(C4C8)C4 =(C9(C4C9)C4 =CC11(C4C11)C4 = cC12(C4C12)
C4 = C13(C4C13)C4 = C14(C4C14)C4_ _C15( C4C15)C4 = C16(C4C16)C4 = C17(C4C17)C5 =Co6(C5C0)
C5 = C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)C5 = C11(C5C11)C5 = C12(C5C12)C5 = C13(C5C13)
C5 = C14(C5C14 ) C5 = C15(C5 C15 ) C5 = C16(C5C16)C5 = C17(C5C17)Cb = C7(C6C7)Cb = C8(C6C8)
Co = C9(C6C9)C6 = Cl11(C6C11)C6 = C12(C6C12)Cob _= 13(C6 C13)C6 = C14(C6C14 ) Cb6 = C15(C6 C15)
Cb6 = C16(Co6 Cl16) C6_= Cl7(Ce C17) C7 _= C8(C7C8)C7 =C9(C7C9)C7 =C11(C7C11)C7 = C12(C7C12)
C7 = C13(C7C13)C7 = C14(C7C14)C7 = Cl15(C7C15)C7 = C16(C7C16)C7 = C17(C7C17)C8 = C9(C8C9)
C8 = C11(C8C11)C8 = C12(C8C12)C8 = C13(C8C13)C8 = (C14(C8C14)C8 = (C15(C8C15)C8 = Cl6(C8C16)
C8 = C17(C8C17)C9 = C11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)
C9 = C16(C9C16)C9 = C17(C9C17)C11 = C12(C11C12)Cl11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)
Cll = C16(C11C16)C11 = C17(C11C17)C12 = C13(C12C13)C12 = C14(C12C14)C12 = C15(C12C15)C12 = Cl16(C12Cl6)
Cl2 = Cl17(C12C17)C13 = C14( C13Cl14)Cl13 = C15( C13C15)C13 = C16( C13Cl16)C13 = C17(C13C17)Cl14 = C15(C14 C15)
Cl4 = C16(C14Cl16)Cl14 = C17(C14C17)C15 = C16(C15C16)C15 = C17(C15C17)Cl16 = C17(C16 C17)
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